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import pandas as pd
import seaborn as sns
import numpy as np

print(pd.__version__)

iris = sns. load_dataset("iris")
iris

2.0.3

sepal_length sepal_width petal_length petal_width species

0 5.1 35 1.4 0.2 setosa
1 4.9 3.0 14 0.2 setosa
2 4.7 32 13 0.2 setosa
3 4.6 3.1 1.5 0.2 setosa
4 5.0 3.6 1.4 0.2 setosa
145 6.7 3.0 52 2.3 virginica
146 6.3 2.5 5.0 1.9 virginica
147 6.5 3.0 52 2.0 virginica
148 6.2 34 54 2.3 virginica
149 5.9 3.0 5.1 1.8 virginica

150 rows x 5 columns
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from sklearn.ensemble import RandomForestClassifier
from sklearn.model_selection import train_test_split
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# OO g8 =222 LIS
X = iris.iloc[:, 0:4] # 1€~4&
y = iris.ilocl[:, 4] # 5Z€ - species



X.shape, y.shape
((150, 4), (150,))

y

0 setosa
1 setosa
2 setosa
3 setosa
4 setosa

145 virginica
146 virginica
147 virginica
148 virginica
149 virginica
Name: species, Length: 150, dtype: object

# HOIEHHE &2 23
# test 30%, train 70% & &&
X_train, X_test, y_train, y_test = train_test_split(X, y, test_size= 0.3)
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mode| = RandomForestClassifier(max_depth=5, n_estimators=10)
model . fit(X_train, y_train)

év RandomForestClassifier

éRandomForestClassifier(max_depth=5, n_estimators=1@)§
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y

_pred = model.predict(X_test)
print( len(y_pred) )

print( y_pred[0:10] )
45

['versicolor' 'versicolor' 'virginica' 'versicolor' 'setosa' 'versicolor'
'setosa' 'versicolor' 'versicolor' 'setosa']

df_iris = pd.DataFrame(list(zip(y_pred, y_test)), columns=['pred_val', 'actual'])

df_iris.head()

pred_val actual
0 versicolor versicolor
1 versicolor versicolor
2 virginica  virginica
3 versicolor versicolor

4 setosa setosa

df_iris.loc[ df_iris['pred_val'] == df_iris['actual'], 'correct' | = 1
df_iris.head(10)



pred_val actual correct

0 versicolor versicolor 1.0
1 versicolor versicolor 1.0
2 virginica  virginica 1.0
3 versicolor versicolor 1.0
4 setosa setosa 1.0
5 versicolor versicolor 1.0
6 setosa setosa 1.0
7 versicolor versicolor 1.0
8 versicolor versicolor 1.0
9 setosa setosa 1.0

df_iris.correct.value_counts()

correct
1.0 40
Name: count, dtype: int64

np.mean( df_iris['correct'] )

1.0



